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Directions :

36.

37.

38.

132

(Q. Nos. 36-38) : The
question are designed to test
of English
vocabulary. Choose the correct

your knowledge

word from the options given
below and mark the correct
answer in your answer sheet.

A remedy for all diseases.
(1) Panacea

(2) Venal

(3) Utopia

(4) Verbatim

A thing kept as a reminder for
person, place or event.

(1) Pone

(2) Souvenir
(3) Pedant
(4) Granary

A person holding an office
without any remuneration.

(1) Penury

(2) Honorary
(3) Mercenary
(4) Lapidist

il

£

E.l"""l.l-""'
1 Ul

(7-A)

Directions :

39.

BN

41.

Each of the question
from 39-42 has 4 sentences in
the form of four options. You
identify the
appropriate sentence out of them
and mark the corresponding

have to most

answer in your answer sheet.
Identify the correct sentence in
the following sentences :

(D
2)
3)
4)

Honey is no sweet.
Honey is very sweet.
Honey is much sweet.

Honey is low sweet.

Bread and butter will what
they want.

(D

Breads and butter are what

(2)

they want.
(3) Bread and butter are what
they want.

Bread and butter is what
they want.

4)

(D

Whom were you given this
pen ?

(2) By whom were you given
this pen ?

(3) By whom gave you this
pen ?

4)

By whom you given this
pen ?



42. (1) She sings well, isn’t she ? 45. A lackadaisical security force

(2) She sings well, doesn’t will only encourage crime.

she ? (1) Strong

(2) Vulnerable
(3) Enthusiastic
(4) Lethargic

(3) She sings well, does she ?

(4) She sings well, aren’t she ?

Directions : For Question Nos. 46. They share a feeling of
43-47, choose the answer which animosity.
1S nearest in the meaning (1) Agony
(synonym) to the word .
underlined and mark the (2) Hostility
appropriate answer in your (3) Anger
answer sheet. (4) Displeasure
el
43. 1 aspire to be a sincere and £_47- They had a boisterous party
honest bureaucrat. i yesterday night.
(1) Work (1) Ultimate
(2) Suave
(2) Yearn N
— (3) Noisy
3) Diri
(3) Drive O (4) Childish
(4) Pledge LI_

Directions : For Question Nos.
48-51, fill in the blanks by

44. He was caught in a frenzy. _ _ .
choosing from the options given

(1) Dejection below each sentence so as to
(2) Lethargy make meaningful and

grammatically correct sentences
(3) Mania and mark the appropriate answer
(4) Enthusiasm in your answer sheet.

132 8-A)



48.

49.

50.

S1.

132

I instructed you the book
to the library, didn’t I ?

(1) toreturned
(2) to return back
(3) toreturn

(4) tore-turn

One of my has married a
Russian.

(1) cousins
(2) cousin
(3) cousin sister

(4) cousin brother

The enthusiasm of the students
commendable.

(1) are
(2) 1s
(3) has

(4) were

attended a wedding
ceremony.

(1) I and Manoj

(2) Manoj and me

(3) Myself and Manoj
(4) Manojand I

E.l"'""l.l-"""
1 Ul

9-A)

52.

il
£_53.

54.

Directions : In the Question Nos.

52-55 underlined part of the
sentence has a common error.
Pick out the correct alternative
for the underlined part from the
option given below :

The Prime Minister, with rest of
the cabinet colleagues were
present for the inaugural
ceremony.

(1) was present
(2) did present
(3) could present
(4) have present

There i1s a certain types of

diseases which cannot be cured.
(1) are certain types of diseases

(2) will be certain type of
disease

(3) can be certain type of
disease

(4) should certain types of
diseases

He has purchased a pairs of trouser

for him.

(1) a pair of trousers

(2) a pair of pants

(3) two numbers of trouser

(4) two number of pants



SS.

Directions

56.

132

‘Before coming to meet you, I
had wrote a letter last week’,

said the client.
(D
2)
3)
4)

I have written
I had been writing
I did wrote

I had written

For Question Nos.
56 & 57, identify the part of the
sentence which has error and
mark the correct option in your

answer sheet.

The Manager admired the way/

(A)

The employee had accomplished

all his work

(B)

and appreciating the methods/

©)
adopted by him.

(D)
(1 (A)
2) (B)
3) ©)
4) (D)

A

(
L

(]

(10-A)

Neither of the solutions/

57.

(A)

were found acceptable/

(B)

to the two warring factions/

©)

within the company.

@irecﬁons
et

59.

(D)
(1 (A)
3) ©)

2) B)
“4) (D)

For Question Nos.
58-61, choose the word which is
an antonym of the given word
and mark the correct answer in
your answer sheet.

Conceal

(1) Hide
(2)
3)
4)

Reveal
Shut
Close

Dainty
(D
(2)
3)
4)

Classy
Clumsy
Pretty
Big



60.

61.

Directions : For the Question Nos. 'I"_

132

Philanthropist
(D
2)
3)
4)

Misanthropist
Stoic
Miser

Ornithologist

Wealth

(1) Luxury

(2) Prosperity
(3) Poverty

(4) Sufficiency

62-66, read the passage carefully
and answer the question given
by the

appropriate

below marking

answer in your

answer sheet.

of

air

The Supreme Court
India, considering high
pollution levels in Indian cities,
which 1is

of the

important judgements. The order

passed an order

considered as one
banned the fresh registration of

diesel vehicles having more than

(]

N
(
L1

(11 - A)

2000 cc in and around New
Delhi. The failure of successive
governments and local bodies in
taking effective measures to
minimize air pollutions has
resulted in cities reaching the
dire situation. This prompted the
Supreme Court to step in and
passed the order. It is not
necessary, therefore, to discuss
the pros and cons of a three
month long ban, on a trial basis.
The court consciously targeted
only luxury vehicles, sports
utility vehicles (SUVs), besides
big trucks, affordable to affluent
people, sparing the common
man. It concurred with the
argument that diesel vehicles
pollute the most, contributing to
pollution. Experts have
maintained that “diesel exhaust
consists of 10-100 times (that is,
one to two orders of magnitude)
more particles than petrol”.
Moreover, diesel exhaust is said
to contain smaller particles
which are more hazardous as
they enter the deeper recesses of
lungs and stay longer causing

serious harm to health.



62.

132

Of
industry argued that trade and

course  Automobile
commerce will be hard hit and
will affect the smooth supply of
essentials in the city of Delhi.
They are also arguing, for the
revocation of ban, on two
grounds, one, that diesel is not as
dirty as environmentalists claim
it to be and, two, there were
other more dangerous sources of
pollution which should be
tackled first. When faced with an
adverse judgement, Corporate
seek new scientific studies and

proof.

According to the passage, which

vehicle is not banned from

registration ?
(1) Luxury vehicles.

vehicles

(2) Sports

(SUVs).

utility

(3) Vehicles affordable only by

affluent people.

4)

Vehicles with a capacity of
below 2000 cc.

il

110

£

N
(
L

(]

(12 - A)

63.

64.

What

situation’ mean in the passage ?

does the term ‘dire

(1) Extremely serious or urgent

situation.
2)
3)
4)

Extremely hideous situation.
Extremely vague situation.

Extremely trivial situation.

Which of the following fact is

false according to the passage ?

(1) Diesel exhaust consists of
10-100 times more particles

than petrol.

(2) Petrol vehicles pollute the
most as compared to the

diesel vehicles.

3)

The ban on registration of

diesel vehicles beyond
2000 cc has been done in
and around New Delhi

points.

The

decision

4) Court’s

Supreme
was mainly
targeted towards the luxury
vehicles and sports utility

vehicles (SUVs).



65.

66.

132

Which  of

statement will be favourable for

the  following
the automobile manufacturers

and distributors ?

(1) Diesel exhaust is said to

contain smaller particles

which are hazardous.

(2) Diesel is one of the most
dangerous  sources  of
pollution.

(3) Diesel is not as dirty as
environmentalists claim it

to be.

il
£

110

(4) Diesel exhaust can cause

serious harm to the health

of human beings.

L
According to the passage, cities I:

L)

are 1n dire situation because of

(D

Luxury vehicles

(2) Diesel vehicles

(3) Petrol vehicles

(4) Failures of State
Governments and Local
bodies.

(]

Directions (Q. Nos. 67-70) : Choose
the appropriate meaning for the
underlined idioms and phrases in
the sentence and darken the
appropriate answer in your
answer sheet.

67. The old man is hard of hearing.

(D
2)
3)
4)

very hard
handling tough cases

lame
deaf

68. Let us have your terms in black

and white.

(1) dark and light shade
(2) writing

(3)
(4)

darkness and light

black and white television

9. The beautiful girl was born in
the gutter.
(1) born outside the house
(2)
(3)
(4)

born near a drainage
born in poverty
known

born in a less

hospital
70. Today he is in high spirits.
(1)
2)
3)
4)

mum
morose
cheerful

tranquil

(13-A)
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71.

72.

73.

74.

132

IP address is currently
(1) 4 bytes long

(2) 6 bytes long

(3) 8 bytes long

(4) 12 bytes long

The following Shortcut key is
used to insert new slide into the

current presentation :
(1) Cul+M

(2) Cul+N

3) Cul+0O

4) Cul+P

WAN stands for

(1) Wap Area Network

(2) Wide Area Network
(3) Wide Array Net

(4) Wireless Area Network

VDU stands for

(1) Video Display Unit
(2) Visual Display Unit
(3) Versatile Display Unit
(4) Visual Disk Unit

75.

76.

110

vt

1 KB of memory is equal to

(D
2)
3)
4)

1000 bytes
1000 bits
1024 bytes
1024 bits

Which one of the following is

not an Operating System ?

(D
2)
3)
4)

Windows
DOS
DBMS

Linux

. Process of eliminating errors in

E.l"'""l.l-"""
1 Ul

78.

(15-A)

computer programs is known as

(D
2)
3)
4)

Testing
Coding
Debugging
Designing

Full form of URL i1s

(D
2)
3)
4)

Unique Resource Loader
Uniform Resource Locater
Uniform Resource Launcher

None
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1 Byte of memory is equal to
(1) 2 bits

2)
3)
4)

4 bits
8 bits
16 bits

CD-ROM stands for
(D)

Common Digital Random

Operating Memory

(2) Compact Disc Read only

Memory
Disc

Operating Memory

Random

3)

Compact

None of the above

4)

A floppy disk 1s a
(D
2)
3)
4)

Secondary memory
Primary memory
Volatile memory

None of the above

RAM is also called
(D
2)
3)
4)

Permanent memory
Volatile memory
Super memory

Sub memory

110

vt

E.l"'""l.l-"""
1 Ul

(17 - A)

83.

84.

86.

One of the function of Operating

System is
(D
2)
3)
4)

Memory Management
Batch Processing
Time Sharing

None of the above
acts interface

as an

between man and machine.
(1) Operating System

(2) Compiler

(3) Interpreter

(4) Assembler

‘Cisa/an
(1)
2)
3)
4)

language.
Low level

High level

Assembly level

Object oriented

MAN stands for
(D
2)
3)
4)

Machine Access Network
Metropolitan Area Network
Machine Area Network

Machine Allow Network
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89.
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4)
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91.

92.

94.

IINSINIY o3P BTIee3ont
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(1)
(2)
(3)
4)

2RS0TV RE

&enon®

QOEITT FEROTY DTF ODRTTE,
2FOON® ok’ Bedon®

Sees® TS Qo B8
503,030, BRoOY

(1)
(2)
3)

4)

Tw A= (Word wrap)
$o0ot3® (Font)
T Brews (Text Alignment)

L R3S (Page setup)

3 IINIPYNFY MS-Word 3OS
TESNY  AOOIT Tjtﬁs‘é’oﬁ&égl
T BRRBE ?

(1) .mdb

(2) xls

3)
(4)

.doc
.ppt

50@5@;30'9 S 2.5.030.
e)a%oso‘
BRODT.

(1) Deztnsh

(2) Semonied
(3) FoowTtnsd
(4) @R
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NS

w%é
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FTP stands for

(1) Format Transfer Protocol
(2) File Transfer Protocol
(3) File Transaction Protocol

(4) File Transmission Protocol

An error which occur due to
wrong use of statements in a
programming language is

(1) Syntax error
(2) Semantic error
(3) Logical error

(4) Runtime error

SMTP stands for

(1) Simple Mail Transfer
Protocol

(2) Simple Mail Text Protocol

(3) Simple Mark Transfer
Protocol

(4) Simple Mark Text Protocol

DOS stands for

(1) Desk Operating System
(2) Disk Operating System
(3) Disk Operation System
(4) Disk Operator System

£
Jit

il
O
L1

(19-A)

91.

92.

94.

Which of the following is not a
function of Operating System ?

(1) Booting the system
(2) Debugging
(3) Interfacing with users

(4) Buffering and Spooling

Notepad does not have this
option :

(1) Word wrap

(2) Font

(3) Text Alignment
(4) Page setup

. Which among the following is

correct extension of MS-Word
files ?

(1) .mdb
(2) xls
(3) .doc
(4) .ppt

A Computer’s CPU consist of
millions of tiny switches called

(1) Bits
(2) Registers
(3) Counters

(4) Transistors
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BINSINY 033
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(1) =sfe 200® & SToden

(2) AEE 20 3TOHED

(3) :3356 2o 3ToDen

(4) 308, (history)  e50%,
33030

99. @zt To° QOWT
(1) o TUWTT T TN
(2) @ TUWT T TN

BROTIBH
(3)

TACIMF'S D00y WP
WREITIY 2,00 TURLE
©T OB/, BAROTH T

(4) B0cOT oIRPHTR ©Y

100. HTML 3 27,8 Ses3
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23e23t

4) %ﬁc@ é?%iw s on® ozt

(20-A)



9s.

96.

97.

132

Which

memories

of

has shortest access

the  following

time ?
(D
2)
3)
4)

Magnetic memory
Semiconductor memory
Cache memory

Super memory

The Cut, Copy and Paste options
in MS-Word are available in the

following menu :
(1) Tools bar
(2)
3)

4)

Main menu
Edit menu

Type menu

The paragraph mark () is a

formatting mark that indicates

where the ___ was pressed.
(1) Tab key

(2) Spacebar key

(3) Enter key

(4) Shift key

vt

110

A

(
L)

98.

99.

The shortcut key Ctrl+H in MS-
Word is used to

(D
2)
3)
4)

Open search bar
Open start menu
Open main menu

Open history bar

Drop Cap means
(1)
(2)
(3)

Create all Capital letters
Delete all Capital letters

Create a Capital letter at the
beginning/margin of the

paragraph

None of the above

4)

3100. HTML stands for

(D

Hyper Tension Medicare

Laboratory.

Text

(2) Hyper Mark-up

Language.

Text

(3) Hyper Making

Language.

(4) Hyper Text Marking Links

21 - A)
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